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PHYSICAL EDUCATION
PAPER-II

Note : This paper contains fifty (50) Objctive type questions, each question carrying
two (2) marks. Attempt all of them.

1. Which of the following Viswavidyalya was popular for Archery Training in India ?
(A) Nalanda (B) Shantiniketan

(C) Takshila (D) Magdh

2. Physical education is a fundamental right of every citizen, is part of which charter ?
(A) UNESCO (B) WHO

(C) UNO (D) UGC

3.  ldentify the correct order in which the following Olympics were held :
(A) Sydney, Athens, Beijing
(B) Seol, Moscow, Los Angeles
(C) Moscow, Los Angeles, Monterial

(D) Atlanta, Barcelona, Monterial

4.  Identify the correct order of top three medal winning countries in Beijing Olympics.
(A) China, America, United Russia
(B) China, Korea, England
(C) US.A., China, USSR

(D) China, Russia, Australia
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10.

Promoting feeling of “Esprit De Corps” through games and sports means :
(A) Friendship (B) Co-operation

(C) Honesty (D) All of these

Protein imvolved in muscular contraction :
(A) Actin (B) Myosin

(C) Both Actin and Myosin (D) None of these

Lactic Acid is the By-product of :
(A) Aerobic Metabolism (B) Protein Metabolism

(C) Oxidation (D) Anaerobic Metabolism

Which of the following is essential for wear and tear of muscles in the body ?
(A) Vitamins (B) Minerals

(C) Proteins (D) Carbohydrates

Which of the condition occurs due to accumulation of Lactic acid ?
(A) Freshness (B) Fatigue

(C) Relaxation (D) None of the above

The muscle which is the strongest in human body is :
(A)  Quadriceps (B) Rectus Fernoris

(C) Biceps Femoris (D) Lattisimus Dorsi
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11.

12.

13.

14.

15.

16.

A sarcomere is an area :
(A) Between two I Bands (B) Between two A Bands

(C) Between two Z lines (D) Between I and A Bands

The main function of WBC is :
(A) To fight against the infection (B) To transport nutrient

(C) To transport oxygen (D) To remove waste products

Blood is oxygenated in :

(A) Mussels (B) Lungs (C) Heart (D) Brain

Physiological improvement brought about by psychological mechanism is :
(A) Placbo effect (B) Hypothesis

(C) Motivation (D) Ergometry

Inborn general tendency fo be anxious is an exanmple of :
(A) Trait anxiety (B) State anxiety

(C) Contflict (D) None of the these

Action performed under emotions is :
(A) Reflex action (B) Conscious action

(C) Impulsive action (D) None of these
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14.

15.
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17. Assertion (A) : Sports Authority of India is the nodal agency in the country to look
after sports promotions.

Reason (R) : The primary job of sports Authority of India is to ensure effective
maintenance and optimurn utilization of the various infrastructures
that were build up in Delhi during Asiad 1982.

Select the correct answer from the codes given below :

(A) (A)is correct but (R) is wrong

(B) Both (A) and (R) are correct

(C) (A)is wrong but (R) is correct

(D) Both (A) and (R) are wrong

18. Assertion (A) : Stability is important in a number of sporting activities for example,
swim start, sprint start, wrestling as well as every day activities

Reason (R) : Human can alter their stability by manipulating height of the centre
of gravity or size of the base of support.

Select the correct answer from the following codes :

(A) (A)is correct but (R) is wrong

(B) Both (A) and (R) are correct

(C) (A)is wrong but (R) is correct

(D) Both (A) and (R) are wrong

J—4709 8



17. T (A) : A Bet gfea <91 H Sell Sl Fgan 3 are g FEed § |

WIIT (R) : TR el TR0 o1 werfaes %19 1982 3w @i & <em =31 fafim
ST & TEEd F ST T

(A) (A) F & g (R) 7o & |
(B) (A) IR (R) i 3 T
(C) (A) oW & WR (R) I |

(D) (A) 3R (R) S 7Tem@ 7

18. T (A) : Teerar =g < Tifafaferl | wewrqul 2t §, SSTe % IR 9 Al @ Wi,
31T W1 wle, HyAt AR o1 fg=mt 1 wfafafemt 4 |

AT (R) : T e S @l 391 H UREdT B 91 TeN % SR H 98
Teoran =t =5 TeRar

(A) (A) WEl § AR (R) TeTd ¢ |
B) (A) IR (R) <M TE £
(C) (A) T € WK (R) WEt ¥ |

(D) (A) T (R) ST T |

J—470%8 9 P.T.O.



19. Match the following Physical fitness components with their respective tests :

List-I List-II
(a) Strength (iy  Stork-Stand test
(bp) Balance (if)  Sit and Reach Test
(c) Endurance (iif) 50 yds run test
(d) Speed (iv) 12 min. run/walk test

(v) Standing Broad Jump
Codes :
(@) (B (o) (@
A @) @ G ()
(B) (v) (v) (@) (i)
© O G ()
O) @ ) O )

20. Match the following muscles with their location :

List-1 List-11
(a) Sartorius (iy Chest
(b)  Deltoid (i) Lower leg
(c) Gastrocnemius (iii) Upper arm
(d) Pectrolis Major (iv) Thigh
(v) Trunk
Codes :

(@) ) ( (@
(A) ) (v) @ (i)
B) (@) (@) ) )
© Gv) @) @) @)
D) () @) (@) (1)

J—470%8 10
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21.

List-I
(a)  Akhil Kumar (i)
(b)  Anju Bobby George (i)
(c) Pankaj Adwani (ii)
(d) Sania Mirza (iv)
)
Codes :
@ & © @
(A) (i) (v) (v) (i)
B) () ) (v) )
©Q (@) @) ) @
(D) ) Gv) () @)

22.

List-I
(a) Abhinav Bindra
()  Sushil Kumar
() Vijender Kumar
(d) Saina Nehwal
Codes :

@ @ (©
(A) (@ (i) (i)
B) © @ )
€ @ @) (i)
D) ® @) ()

J—4709

(i)
(i)
(ii)
(iv)
(v)

(d)

(v)

(i)

(iv)

(iv)

12

Match the following players with their respective games/sports :

List-II
Tennis
Badminton
Boxing
Athletics

Billiards

Match the following players with their respective games/sports :

List-II
Shooting
Wrestling
Boxing
Badminton

Tennis



21. Trferiaa faenfeai =i 378 Heftd @ | fiers

e - 1 geit - 11
(a) e AR () ==
(b) &I = ST (i) =
(c) HRSI Tl (iii) SRR
(d) =t s (iv) Umeifeas
v) TFaedw

(@) ) ( (@
(A) @) (v) (v) (i)
B) (@) @ ) @
© @@ ) ) @
D) @) Gv) @) )

22. Trferiaa faenfedi =i 378 Heifta e | fierms

-1 et - 11
(a) &AraTe far (i) FremEmst
(b) XM FAR (i) B
(© o= P (iii) RS
(d) EE EeT (iv) =sfiza
(v) ==

(@) (B (o) (d)

@A) O @ @) ()
B O @ @) (i)
© O G @@ @)
O ® @ @) @)

J—470%8 13 P.T.O.



23. Match the following terminologies with respective games/sports :

List-1 List-11
(a) Check mate (i) Basketball
(b) Googly (ii) Hockey
(c) Goal Kick (iii) Football
(d) Sudden Death (iv) Chess

(v) Cricket

Codes :

(@) ) ( (@
(A) () (v) @) (i)
B) @) (v @
© () ) (@) ()
D) Gv) (v) @) (i)

24. Why there is need for time table for physical education :
(A) To utilize time and energy (B) To utilize Budget

(C) To ensure students attentiveness (D) To teach more skills

25. The leader who allow complete freedom in decision making and do not participate in
the group activities is :

(A) Democratic (B) Autocratic

(C) Laissez faire (D) Dictator

26. Aim of sports training is :
(A) Physical Fitness (B) Technical Skill
(C) Tactical Efficiency (D) All of the above

27. Total number of matches in a league tournament of 8§ teams will be :

(A) 12 (B) 28 ) 25 (D) 15

J—470%8 14
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28.  Sargent Jump measures :
(A) Explosive Leg Strength (B) Explosive Shoulder Strength

Q) Agility (D)  Flexibility

29. Components of Brady Volleyball test are :
(A) Volleying and Serving (B) Serving

(C) Volleyving (D) Volleying, Serving and Smashing

30. Closed form questionnaire containing question that call for :
(A) Free responses (B) Check responses

(C) Descriptive responses (D) Short responses

31. Cooper’s Test is a measure of :
(A) Aerobic Capacity (B) Strength

(C) Anaerobic Capacity (D) None of the above

32. A sociogram illustrate the Pattern of relationship among :
(A) Employees in a big organization (B) members of social groups

(C) Teaching standard of Institution (D) Problem faced by Researcher

33. Experimental research aims at :
(A) What was (B) What will be

(C) What is (D) None of the above

34. The statistical measure which is generally applied for the determination of sampling error is :
(A) Standard deviation (B) Mean

(C) Correlation (D) Chi-square (%)

J—470%8 16



28.

29.

30.

31.

32.

33.

34.
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35.

36.

37.

38.

39.

40.

Occurance of the normal curve depends upon :

(A) Occurance of the event must depend upon chance

(B) A large number of observations must be made

(C) Both (A) and (B)

(D) None of the above

Factors beyond the control of researcher are called :

(A) Experimental variables

(C) Critical factors

Synopsis is also called :
(A) Summary

(C) Abstracts

(B)

(D)

(B)
(D)

The most reliable measure of variability is :

(A) Two Mean

(C) Quartile Deviation

‘F’ test is used for comparing :
(A) Two Means

(C) Two Standard Deviations

Kraus Weber test measures :
(A) Motor Ability

(C) Minimum Muscular Fitness

J—4709

(B)

(D)

(B)

(B)

(D)
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Limitations

All of the above

Research Proposal

All of these

Standard Deviation

Mode

More than two means

More than two Standard Deviations

Motor Fitness

Physical Fitness
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41.

42.

43.

44.

45.

Hamstring and back flexibility is measured by :
(A) 5it and reach test (B) Bass stick test

(C) DBoomrang test (D) None of the above

Evaluation used by the teacher throughout the instructional stages of the unit of learning
is called :

(A) Summative evaluation (B) Subjective evaluation

(C) Formative evaluation (D) All the above

Most common types of test items for knowledge measurement are :
(A) Completion (B) Multiple choice

(C) True-false (D) All the above

Number of matches in first round of a knock out Tournarnent of 23 tearns will be :

(A) 7 (B) 8 (©) 6 o 9

Name the Women Badminton player who won two Grand Prix Tournaments :
(A) Saina Nehwal (B) Madhumita Bisht
(C) Aparna Popat (D) Manjusha Kanwar

Read the passage given below and answer the questions correctly that follow the
passage :

Play is marked by freedom, spontaneity and pleasure. McDougall opined that
“play is very important for the preservation, growth and development of the organism”.
Forbel considered it as “natural unfolding of the germinal leaves of the child”. Ruskin
took play as “the exertion of body and mind, made to please our selves without a
determined end”. For Lazarus “play is an activity, which is in itself free, aimless,
amusing and diverting”. Play, remarked Ross, “is a joyful spontaneous creative activity
in which man finds his fullest expression”. The universal nature of play has hardly
been questioned : it is present in all children irrespective of the cultural milieu in which
they are born and brought up : it is all pervading and all permeating. Play is not a
super-imposition but an activity that it self - generating : “it is voluntary self -
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41.

42.

43.

44.

45.
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46.

47.

48.

49.

50.

constrained activity”, as Stern believed. Despite the fact that it is considered as an
aimless activity, its value as developmental process cannot be undermined. It makes
the child healthy; it provides the child freedom to do anything he likes to do; it gives
expression to his creative ability; it makes him interact with the environment profoundly.
Though play, the child develops capacities and potentialities for the serious business of
life in later years. Nature could find no better way of developing the child than play.

‘Play is very important for the preservation, growth and development of the organism’
- opined by :

(A) Ruskin (B) Ross (C) McDugall (D) Lazarus
Play is marked by :

(A) Freedom (B) Spontaneity

(C) Pleasure (D) All of the above

‘Play is a joyful, spontaneous creative activity” - opined by :
(A) McDugall (B) Ruskin

(C) Lazarus (D) mnone of the above

Play makes the child :

(A) Healthy (B) Creastive

(C) Freedom to do any thing (D) All of the above

Nature could find no better way of developing the child than :

(A) education (B) play (C) discipline (D) creativity
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